3
o
1285mm

1410mm

N e

Too long  Too Short

i

b

____________

e

Adjust casters
to level trolley

=

Essential T1011

Mounting insfructions
Montageanleitung
Consignes d’installation
Montagevoorschrift
Insfrucciones de montage

max. load
80 kg / 176 Ibs

IT Istruzioni di montaggio
PT Manual de monfagem
EL Odnyiec ouvappoyng
SV Montagefbreskrifter
PL Instfrukcja montazu

MOUIN_T1011_V1

RU  MHcTpyKkuma no coopke nyctaHoBke RO  Insfructiuni de montqgj

CZE Ndavod k montdzi
SK  Navod na montaz
HU Szerelési el6iras

TR Montajk ilavuzu

UK BKasiBKM NO MOHTaXi
BG WHcTpyKUMKM 32 MOHTaX
A REDFHAS

ZH L]



N oo

C (x4) D (x1)
\Q
Vi
G(x1) I
1 (x4) K (x4) L (x2)
A
&
§ o—
M (x4) N (x2) O (x3) P (x1) Q (x1)
4mm 17mm

@)\»»») @n»»»»»» @W Om Om

R (x8) S (x4) T (x4) U (x14) V (x2) W (x8) X (x2) Y (x2)
M6x55 M6x10 M6x16 M6x12 M6x12 M5x10 M6x16 D6

a
g G fumm mmm  Jmmmmw co) @) @)

M-A (x4) M-B (x4) M-C (x4) M-D (x4) M-E (x4) M-F (x4) M-G (x8) M-H (x8)
M5x14 M6x14 M6x30 M8x30 M8x50 D5-D8  @15x@8x5 @15x@D8x15

;o
/o
i

./
e Tighten the four
screws in step 2

/
1
1

e OPTION ®

OPTION @

OPTION @




